SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

This Question Paper consists of 48 questions and 15 printed pages.
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General Instructions :

1.  Answers of all questions are to be given in,the"Answer-Book given to you.

2. 15 minute time has been allotted to readthis' Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30pim., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.

3.  Candidate must write his/her RollNtrmber on the first page of the Question Paper.

4.  Please check the Question Paper‘towferify that the total pages and total number of questions
contained in the QuestionfPaper are‘the same as those printed on the top of the first page. Also
check to see that the quéstionsyare in sequential order.

5.  For the objective-typé ofiquestions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C)and (D) and indicate your correct answer in the Answer-Book given to
you.

6.  All the questions, including objective-type questions are to be answered within the allotted time

and no separatetime limit is fixed for answering objective-type questions.
7.  Makinggamy identification mark in the Answer-Book or writing Roll Number anywhere other than
thegspecified places will lead to disqualification of the candidate.
8. _Write your Question Paper Code No. 67/0OS/1-A on the Answer-Book.
9., “(a) ““The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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Note :
(i)  This question paper consists of 48 questions in all.
(i) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of :
(@) Q.No. 1 to 20 - Multiple Choice type Questions (MCQs) carrying{Iymarki€ach. Select and
write the most appropriate option out of the four options givefiin‘each of these questions.
An internal choice has been provided in some of these questions. ¥You have to attempt
only one of the given choices in such questions.
(b) Q.No. 21 to 32 - Objective type questions. Q.No. 21 t@ 29, carry 2'marks each (with 2 sub-
parts of 1 mark each). and Q.No. 30 to 32 carries 4 marks eachr(with 4 sub-parts of 1 mark
each) Attempt these questions as per the instructiens given for each of the questions 21 - 32.
(v)  Section - B consists of :
(@) Q.No. 33 to 38 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 39 to 44 - Short Answer type quéstionsicarrying 3 marks each to be answered in the
range of 50 to 80 words.

(c) Q.No. 45 to 48 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
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SECTION - A/ @UE - <h

1. (i) Thesekinds of health hazards such as epilepsy, memory disturbance, visual and auditory 1
impairments are due to :

(A) Crowding (B) Noise Pollution
(C) Water Pollution (D) Air Pollution
fafy=1 yR #i w@re gueE 9 finfl, Wia sium, gt gaqu gt fasr
% HRU B B
(A) g (B) A Fgu
(C) It 9guv (D) oY 9guul
OR / 3eran
(i) Diseases like diarrhoea, intestinal worms and hepatitis are causéd by :
(A) Crowding (B) Noise Pollution
(C) Water Pollution (D) Air Pollution
T, ATl H IS Td JUSTESH S i HROT §
(A) g (B) M 9T
(C) SIeT 9guu (D) =g 9qyul
2. (i)  This conflict has been referred as “mixedé®blessing’ conflicts because of the involvement 1
of multiple alternatives :
(A) Approach - approach (B)Y“_ Avoidance - avoidance
(C) Approach - avoidance (D) /Frustration
gHEIh Iyl & R SYAS ) TEd - TR’ 551 o e H i S@1 S 2
(A) 9&E - & (B) IER - IER
(C) T - 9fER (D) FaI
OR / e
(i) This is an experiential state which may result from blocking of needs and motives :
(A) Apptoeach - approach (B) Avoidance - avoidance
(C)  Approach -Pavoidance (D) Frustration
g Uk YRNTIcHSh 1ol § il o1edii Ual STavarsharali ot gfd = 8 o IRummeasy 3= 2t ¢ :
(A) “TEler - g&d (B) IRER - IER
(C) = - TR (D) T
3%y Language usage is influenced by : 1
age B ender
(8)  ag (B) gend
(C) cultural background (D) all
TS 3 AT O e Bl R
(A) SgH (B) fafm =
(C) WiEhids gy =i (D) Sulisk Hit
EHE
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4. (i) Identify the period when satisfactory heterosexual adjustments are facilited, career is 1
planned and philosophies of life are molded :
(A) Infancy (B) Adolescence (C©) Adulthood (D) Childhood

I 7T Sl TEHIT ST Gefrosteh faoafe i TameH e a1 s 8 €, St Sfifae ot
IS ST SRH & TR Sfra-23 =1 fmfor g &
(A) e (B) Temsmrereen (C) g (D) STewerEen
OR / 3eran
(i) Transition from Adolescence to adulthood depends upon :
(A) Individual characteristics (B) Environmental aids
(€) Individual’s experiences (D) All
st o e dieraen # gowr ST fohan o1 € 78 R s=ar @

(A) AT O W (B) U™ 9§ U< Wl 9L
(C) = STvaEl W (D) W Ift W
5. (i) Identify the process in which an internal representation of an object is formed : 1
(A) Sensation (B) Attentiord
(C) Perception (D) Recognition
39 Ufsha i wg=e s gR Ueh a5 k1 Ak A e s ©
(A) HagA (B) €Sy
(C) TcaafieRTo (D) et
OR //31eren

(i) Out of the following which.ié the@bility to see three-dimensional space and to accurately
judge distances ?

(A) Perceptual gromping (B) Perceptual constancy

(C) Depth perception (D) Ilusions

frefafed § amgl & Foia iR fSfad wm o1 3@+t dred Bt § 2

(A) FHEUHE HYRIEhLl (B) TcHEIUIcH Teer

(C) T TeART (D) ¥H=
6. (i) dhispisreferred as dynamic organization within the individual of those psychophysical 1

systems that determine his/her unique adjustment to the environment :

(A) “Intelligence (B) Personality

(C) Interest (D) Aptitude

THe Hoiel AR 1 37 HAlafesh qonferdl & Tiasfiel e | € S ooy § 35 e

TR W Eifd e g

(A) fs (B) eAfeRIce

(C) =f= (D) g

OR / 31eran
EHE

67/0S/1-222-A ] 5 e [ Contd...

9899436384, 9654-279-279



SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

(i) Individual differences occur due to :

(A) Genetics (B) Environment
(C) Both (A) and (B) (D) Only media
Faforen fafvran & H Hfed B 7
(A) STgatteED] (B) e
(C) <ri (A) TH (B) (D) e Hifean
7.  Anger, apathy, social withdrawal and learned helplessness are the most likely responses.of : 1
(A) Crowding (B) Air Pollution
(C) Noise Pollution (D) Water Pollution
I, ST, IS JeEq iR HiEl g8 aem J&id: 39E © ¢
(A) g ® (B) AT YO
(C) i wgwor (D) el WUl
8.  Features of effective communication includes : 1
(A) Ethical standards (B) Mutualinterest
(C) National integration (D) Ohligation
ECICIS LI RENEG
(A) iR 7 (B)m, THIREI=
(C) TS THIF (D) \Sifa=
9.  Acceleration of growth during adeléscentiperiod is closely linked to the increased hormonal 1
output of :
(A) Sweat glands (B) Sebaceous gland
(C) Pituitary glands (D) Liver
Torsirereen § foerra &1 el & Teher arel gTHI i S | S[eT 8l © ¢
(A) THH T G (B) orEmA Uiy
(C) gy (D) e
10. (i)¢ pJThe minimum amount of physical energy needed to produce a sensory experience is 1
called™:
(A)  Absolute threshold (B) Differential threshold
(C) Frequency (D) Pitch
IR ol bl AR A S T HAGH 3TN ol 391 i § ol g1 I8 @
(A) ol St (B) AR AU
(C) 39 S (D) w&THHA
OR / e
EHE
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(i) This refers to the number of cycles a wave completes in a given amount of time :

(A) Absolute threshold (B) Differential threshold
(C) Frequency (D) Pitch

39! Tew o T wHe H T T H TR I den E ©

(A) i STaE (B) fawea stam

() s (D) R

11. This refers to the potential ability of an individual to perform a task, which cofisists’ofa> 1
combination of abilities :

(A) Intelligence (B) Personality
(C) Interest (D) Aptitude
5 AT 1 T T F GHH AFIAT & S AR AR o AT 8 o g
(A) Ifs (B) wAfeicd
(C) %= (D) efugfa
12. This process of organization includes human resources, capital, technology, material and 1
information :
(A) Inputs (B) Outputs
(C) Environments (D) “Seocialization
TS i I Ulshar THaTT GTeH, Yoil, Tgheiehy et 8T geIei & ®9 H 8 Tehdl ¢
(A) e (B), J8H
(C) wafeRm (D) STHTSIIeRTT
13. Identify the channels whi€htinvolves the use of social distance between people : 1
(A) Kinesics (B) Gaze
(C) Proxemics (D) Haptics
T AF ! TRl IS8 @rll o We |rHifsish i o1 W g €
(A) TR TfsfET (B) @ W@
(C) Fisiel (D) *E
14. () “Gender identity is established at : 1
(A) 3 to 4 years (B) 5 to 6 years
(C) 7 to 8 years (D) 9 to 10 years
fefm e ey Bt &
(A) 3949 H (B) 5H6HAH
(C) 7989 H (D) 9910 9 |
OR / e
EHE
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(i) ‘Gender consistency’ is established at :

(A) 3 to 4 years (B) 5 to 6 years
(C) 7 to 8 years (D) 9 to 10 years
* i feorca” wenfi Bt @
(A) 3949 H (B) 5H6HAH
(C) 798w H (D) 9 ¥ 10 A |
15. (i) This sub-system of organisation refers to the use of knowledge, facilities, equipment 1
etc. :
(A) Psychological (B) Structural
(C) Managerial (D) Technical
ST ot I8 U I, Glaenstl, Sushivll geafs & gnT i R g9 B ¢
(A) AR (B) HTHATHS
(C) TR (D) dehrieh
OR / 3t

(i) This sub-system of organisation refers to thegnell defined tasks and integrated activities
in different units :

(A) Psychological (B) “Sthuctural
(C) Managerial (D). Lechnical
HiTeT ot I8 SuTaed faf— SR H)eTes! aie 9 qRHa il 3iR Tehied Tifafafer ot
TR TR A T -
(A) AR (B) W=cH®
(C) erHhA (D) deheTent
16. (i)  Which of the following statement is not correct ? 1

(A) Communieation is a continuous process.
(B) € We can communicate through words.
(©ppWercan communicate through gestures.

(D) yWe cannot express through tones and expressions.

SH. T D 1 FHUT TE TG T2
(A) HYuU Tk FRR wfeRan €1
B) T Vsl % gRI WY X

(
(C) T WIifRer =rsersil & R TYor hid ¥ |
(D) H R el o AR qereil R U9 & L Hohd |
OR / 3terar
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(i) Parents tell their children not to smoke and drink because it is unhealthy. This attitude
is formed through :

(A) Direct contact (B) Direct instruction
(C) Interaction with others (D) Observational learning
ATa-faar o799 =i ol 9a § o guae SR weum wftere ®1 sw sifygfa @ fuim
_ HEAEmE
(A) Eenm Hush (B) &ten
TEU & Y AT (D) G&ocHsh SIfeH
17. Identify the factor of organizational climate which serves as the baSishof interpersonal 1
relationship between supervisors, subordinates and co-workers :
(A) Organizational Structure (B) Technology
(C) External Environment (D) Management Policies and Practices

TS & IIdTER0l & 4R Tl U= S 38 Taeieh, ey AREEhHE! o A STaHt Teel
T STUR S S

(A) HISHAHR | (B) dhdleh
(C) & qafeRT (D) “Wsigrwig wifaar iR s gomedt
18. (i) In an organisation when managementdses threats and punishment to enforce orders. 1
Identify the leadership stylé hexe”
(A) Participative (B) Consultative
(C) Paternalistic (D) Authoritarian
TS B ST YoEH SIS I YU T & T et TR TS 61 JAF a1 €| 56 Aged delt
qg=T |
(A) HeHREl IRERIED
(Q) TEgIIH (D) HdmEmwR
OR / e
(ii)pee This leadership style involves two way communication between boss and subordinates :
(A) Participative (B) Consultative
(C) Paternalistic (D) Authoritarian
g g et STHERT 3R =Rt & Hem fgAnia Aty sl THIfed il § ¢
(A) Heurt IRERIED
(©) foggas (D) &M
EHE
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19. Through this process an individual employee acquires the knowledge and skills necessary 1
within the organisation :

(A) Superior - subordinate relationship

(B) Relationship with co-workers

(

©)
(D) Communication

39 UfHAT % GRI Ueh ShHER G 3 SFeR S8 S o faIu STrasereh I 1R <hieeli shl T8 hedl
(A) SRR - ST HeY

(B) HEHHAT & Ty Helyl
(C
(

Organisational socialization

TS FTHTSIh LT

)
)

D) ®uw
20. This refers to preservation of the stocks of resources includingenvitonmental and exhaustible 1
resources :
(A) Sustainable development (B) Global gvarming
(C) Green house effect (D) Consumption
THHT AT FHEAT o YUSR i GRaT e qaiguie Qe AR quid: T fRa S A e
NIECEE
(A) Tt o (B) \ griecira
(C) T B39 94 (D) =aH
21. Answer any two of the follewing : 1+1

(i)  Sukriti keeps organizingyher cupboard whole day. Even the thought of somebody
missing it, keeps her anxious. Identify the disorder of Sukriti.

(i) Tanya is not able to¥@member anything from the past. This occurred after the sudden
demise of herthusband in an accident. Identify the disorder in the case of Tanya.

(iii) Givefany two behavioural responses of stress.

(iv) Mmite.anytwo emotional responses of stress.

foRial s ST

(1) W ehF T STUAT STAHI T SRGST I AT Hdl Wl ¢ | hIs AfK IHeh! A& hl Tl
T 39 914 1 ST 34 e st 1 ghia & FAIGhR i Iga it |

() = ST qE ot EMeAISl I A1 w1 H otEAe ¢ 1 ¥ Rl 3Hek 9fd o T gHen H fea %
HIE 3T §8 € | A1 o ¥ § HANGehR i JgAM hifelu |

(iti) e ol TR=T < et gfafsraneti o1 fafem
(iv) o i TRl QA wrerTees fdfshanedi =i fafa

[EIREE
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i)  Define interest. 1+1
ii)  Give one example of interest test.

(

(

() ‘==’ g it

(ii) &fa 79 T DS Th I ST

22.

23. Answer any two of the following : 2
(i) Non-verbal communication helps to allow self-presentation. True/False
(i) Haptics refers to and is a function of culture.
(iii) Effective communication can be achieved by talking fast. True/False
(iv) Advertisers make use of to make people buy certain produéts.
for=dl &t &1 S AT
(i) TGS FITU H TEIAh H Herh g | 6/ 3TA
(i) Rfesw T G&hfa & T hl SellEd T T |
(ili) STeal-STea! SR HYTOT Sl FHIE AR ST Hohell © | T/ 3THA
(iv) oo S 1 TN 31Ot gl 9= & fanm, T

24. Answer any two of the following : 2
(i) What is cognitive development ?
(i) Identify the sub-stage of cognitive developmentwhern children can create mental images
of objects.

(iii) According to Piaget inability to se€fthe ‘wotld from someone else’s point is called

(iv) Centration means

fen=dt <t =1 s i

(i) TR faeRE w1 T2

(i) AR TR ] SH SY-—3TarEe 1 Te=T e o= sreqedl o1 Amfdes wifsisr o ot €1
(i) TSt & STTURfERa i fRe T ah ¥ @A S St FHEANH |

(iv) TR 1 31 © |

25. (i) Theprocess\of learning language is . (verbal learning/concept learning) 2
(ii) refers to the process of using earlier learning in a new situation.
(i) o WIS SRIEREH St gfsham FHeEard g1 (ke HIEHT/ etk )
(i) 39 UishaT I EAT hal © 9 gct e T eRR 1 78 IRiefa § g4 foran
ST |

26. (i) This property of psychological test ensures uniformity and objectivity. Identify the 2
property.
(i) Ability test measures capacity as potential. Suggest one ability test.

(i)  TAOS T H I 0 THEI TS TSl Rl STVEE Hadl § | 39 07 i Gg= |
(i) Far % Teror ffed Wi 1 9199 A § 1 HIE Tk AT TR IRy |

[EIREE
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27. (i)  Write one purpose of job description. 2
(i) What is the outcome of right career decision ?
(i) < foeRT o1 FE TH IeTF TART |
(i) e SR % o & fe T aRom =i SR

28. Answer any two of the following : 2

(i)  What is the average IQ level ?
(i) Concept of IQ is not meaningful beyond the age of 18 years. True/False
(iii) Write one positive influence of media on society.

(iv) People have unlimited capacity to receive and process information. True/False
fordl &1 1 S AT

() sied gfg wfsy frat St 2

(i) dfg afsa 1 faam 18 o & TR F ARl & forw e 1fere, Ao Tl Q@d §1 T/ STHA
(ili) HAR A1EFHl & fRE Toh GhRIHE GHTE hl Ry |

(iv) T H HI TRV H i GHAT ST Bl § | oA

29. Identify the parenting style when it is : 2
(@) demanding, controlling, insensitive

(i) indulgent, non-demanding

qTe o dlieh ohl J8EIHT T
(i) T T, TS wE, TeA e |
(i) < 2, o fonedt | % aret R |

30. Classical conditioningfis also knewn as Pavlovian conditioning. He studied stimulus - response 4
relationship. He did his‘experiments on dog. Based on description answer the following
questions.

(i) Identify US in Paylovian experiment

(i) Identifyy UR

(i) ddentity CS

(iv). wWhatyis acquisition in this experiment ?

S SFae ! Uiaere &1 fagia off et s €1 35 3 IR orfoRan & gl 1 ererm
Tohall 3= Tl R 31ead fhd | foaaxor & omaR | Fefafaa g1 & 3w ST

() i eI H SIS yd sl (US) i Je=Tu |

(i) STeTIEfyad sTgfshal (UR) T8 |
(ili) SATSEA JASHT (CS) S TG
(iv) 9 WA H SUSH 1§ 2

[EIREE
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31. Answer any four out of the following : 4

(i)  Sarah suddenly leaves her home and starts living in another city with a new identity
and with no memory from her past. Identify the disorder.

(i) Ankit is extremely rigid when it comes to wearing shirts. He is withdrawn, does not
smile and has delayed language development. Identify the disorder of Ankit.

(i) Kumar would often be seen talking to himself. On questioning he would say that these
were people whom he could see and hear. Identify the disorder.

(iv) Arnav is 8 year old boy. His parents are worried about his lack of paying attentionyin
class. He is always distracted during lesson. Identify the disorder of Arnav,

(v) Building good and working relation with client in psychotherapy is _known as

(vi) Step comes when sessions have yielded the desired outcome is known as

=1 9 9 fodl =) &1 S SN

(i) ORI STEMH ST R BIGH T IR H A1 Y& HIA ¢ | 98 THAS Yeo™ st © foad gt
T I i el § | FAIFTRR St TgaH hifad |

(i) I TR HHY ifehd Tgq & AR &A1 § | I8 Tk IHIqI/Lehidig/ ST & S foegpa
T TERACT T R G T e § 1 sifeRd % Aeifagamgent dedne |

(i) FHR hI SRR T 3T I 90 FA I 9@ Il &1 @7 W FUR Feal ¢ fF a8 30H
STE-TTH G TN ol T@-G Tehdl & | ARG UgsiT |

(iv) RIS T TS TIeT 1 ASH ¢ | SHh AU SHek hal § & 7 37 & e feifad &
T UG HT THIM IUHT S YIhaie | IsiAe foh g THIfasr 9 difed § 2

(v) Terafere § Jafiel & ot iR Tohesia deer s HEAT T |

(vi) TS S Sifed IRoTE Y U e, e ¥ 1 FHEar § |

32. Answer any four of the fellowing : 4
(i) Give one examplé of self report measure of personality.

1

~"

In this type of measure of personality has unstructured or ambiguous stimuli.

(
(i) This measure of personality came into light during second world war.

(iv) Vocationalunterest Test are Pen and Paper Test. True/False

(v)  Whi€hyperspective identifies personality as extraversion and introversion ?

(vi) Mhieh perspective of personality was given by Sigmund Freud ?

Tera@i, =T okl 3T 9T

@y AT 6 TEAd AT 1 RIS Th I ST |

(i) ST TR o Al eI H ST A1 STEA Ie9eh b1 TANT FoRaT ST 7 |
(i) =feHRIea % =€ Wk Tt fovd g o w0 Yehre H &7 |

(iv) SAEEIEE e e HrTs-shed (e Te 2 € 1w/ e

(

(

v) SF-91 ufleg SAfade 1 siadel iR aRrget % w0 § g 2
vi) Afa & wE-1 aRied famwe wee | fean on?

[EIREE
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SECTION - B/ @Us - @

33. Explain behavioural approach to understand psychological processes. 2

qfae FfHATST ol THEH i HAGRATE! SUNTH i AT HIfT |

34. What is Udana - The faculty of thinking ? 2
SeA (e ewan) Tl #ed €72

35. Define social cognition. 2
GrATRSTeR WA shi giumsn s )

36. Explain the concept of ‘Attention’. 2

‘31U’ S HeheUdl i RAT iU |

37. List any two functions of an attitude. 2
AT (attitude) 3 for=l 31 sl =1 fafaw |
38. What are field experiments ? 2
SERRINERIE
39. (i) Each and every person is a combination of thfee gunas. Justify the statement. 3
T Afa A= O H GASH B heH k1 Al g it
ORY/ et

(i) Explain levels of consciouSness$ acgérding to Sri Aurobindo.
gt SR o STTUR, AT l TR ST hiTSIC |

40. Describe the relevantvariableander experimental method. 3

TN 311 H Eq = bl AU il |

41. Describe the characteristics of middle adulthood. 3
TTeTaTen o Qeiuli hl, aui hifTd |
42. Idéntify some indicators of poor mental health. 3
SHHSIR HHeh Tee o &0 iy |
43.%_ (i) ¥ Describe the three component of an attitude. 3
A (attitude) o I T8 I FUH HITT
OR / et

(i) Explain the three important factors that help to bring about attitude change.
sifugfa afterdd o fr=l i Heerqul sehl i =mea i |

[EIREE
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44. (i) ‘Humansubjugated to Nature’. Explain this view as human-environmental relationship. 3
‘gepfd & S1HfF HME’ | AHE-9RER & HeHl Sl THE a1l 39 Sl Sl SATEAT hiTtT |
OR / 3eran

(i) Explain the symbiotic relationship between human and Nature.

THid SR IFa & o GEsiel-Hey 91 7 ?

45. (i) Describe Vijnanmaya Kosh - The intellectual sheath. 5

faITHT I - Slifgeh STER0l &1 U hifeld |
OR / 37eraT

(i) Explain Aurobindo perspective on level of consciousness.

SRR o STTIR a1 o Wi hl ST IS |

46. (1 Suggest some strategies to maintain good mental health andyhyeiene. 5
&8 8 g Vg

3T YA T SR Toadl Sl ST W o fel gt Fedifadr gemst |
OR / 31T

(i) What do you understand by the term health 2y Differentiate between mental ill-health
and mental illness.

TTEeT 3Iec W 31T 1 WA © 7 AT [EemsT ol 21X qHiEeh U7 H o1 3ia) BT & ?

47. How one can remain healthy durifig old age™” Discuss. 5

FSTaE H XY HH QT 5T Hhal § 2, Sdifept T |

48. Describe Maslow’s hiefarchy ofyNeeds. 5
T g gfadTied SESehast o ISIIehH i GU hiToIT |

-00o0-

[EIREE
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